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1. The following has a posterior relation with the prostate:
A. Kidney.

B. Urinary bladder.

C. Aorta.

D. Uterus.

E. Fascia of Denonvilliers (Rectovesical septum).

Answer: E. Fascia of Denonvilliers (Rectovesical septum).

2. The following part of male reproductive system secrets most of seminal fluid:
A. Prostate.

B. Penis.
C. Seminal vesicles.
D. Epididymis.
E. Paradidymis.
Answer: C. Seminal vesicles.

3. All of the following are branches
A. Perineal artery.

B. Inferior rectal artery.
C. Middle rectal arter
D: Artery of the bulb.
E. Deep artery gf the clitoris.

he internal pudendal artery, EXCEPT:
/\—"’\/ —~

Answer: C. Middle rectal artery.

N.B. You either know all the written branches from lectures: 5, 6& 7, use mnemonic
for it OR think of it like: middle rectal artery and internal pudendal artery are two
distinct arteries that supply the prostate= The first one can’t be a branch of the
second one.
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One of the following is the palpated part of prostate during rectal examination:
. Membranous urethra. -
. Lateral lobe.

. Inferior lobe.

. Anterior lobe.

. Posterior lobe. -
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Answer: E. Posterior lobe.
. Retro-pubic pad of fdt is related to bladder:

. Anteriorly.
. Posteriorly,
. Inferolateftally.
. Superifrly.
Megially.
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Answer: C. Inferolaterally.
. Spermatogenesis begins in the:

. Uterine horn.

. Rete testes. M:37 2strceds

. Seminiferous tubules.

~Seminal vesicles.

Prostate.
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Answe@eminiferous tubules.

7. One of the following is INCORRECT as per the layers of the scrotum:
A. External spermatic fascia.

B. Internal spermatic fascia.

C. Superficial fatty layer.

D. Cremaster muscle.

E. Involuntary dartos muscle.

Answer: C. Superficial fatty layer.
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All of the followings are coverings of the spermatic cord, EXCEPT:
. External spermatic fascia.

. Internal spermatic fascia.

. Cremasteric fascia.

. Cremaster muscle.

Dartos muscle.
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Answer: E. Dartos muscle.

The ascent and descent of testes occur by:
. External spermatic fascia.
. Internal spermatic fascia.
. Cremasteric fascia.

. Tunica vaginalis.

Dartos muscle.
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Answer: C. Cremasteric fascia. (Main player in ascent and descent of testes)
Dartos muscle= main player in scrotal skin wrinkling and shrinkage.

10. One of the following arteries DOES NOT enter the pelvis:
A. Testicular artery.
B. Median sacral artery.
C. Internaliliacartery.
D. Superior rectal artery.
E. Ovarian artery.
Answer: A. Testicular artery.
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